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1. BREROE

() BEIRLE
OEARFEERLE [o0] [1,000] [1,000] [1,000]
EARAMESZTHE 0 1,000 1,000 1,000
QB\H£INEE [o0] [19,326,000] [19,326,000] [714,000] [20,040,000]
ZWMALRE 0 1,680,000 1,680,000 1,680,000
ZHRRE 0 17,646,000 17,646,000 714,000 18,360,000
O350k [45,760,000] [58,000] [45,818,000] [45,818,000]
ZHMEHEHNS 32,196,000 32,196,000 32,196,000
R &RE%E 58,000 58,000 58,000
ZHREMEHMESIRES 9,688,000 9,688,000 9,688,000
BEEEXIEN REEIREEE 3,876,000 3,876,000 3,876,000
@BEEEERE [15,000] [1,000] [16,000] [16,000]
BEEEZIAE 15,000 1,000 16,000 16,000
G}V [9,056,000] [258,000] [9,314,000] [9,314,000]
ZHAE 4,000 1,000 5,000 5,000
EFE 9,052,000 9,052,000 9,052,000
ZHMAEH 110,000 110,000 110,000
HINEE 147,000 147,000 147,000
BHIAAERHA) 54,831,000 19,644,000 74,475,000 714,000 75,189,000

(2)BEER
DExE [58,408,000] [24,127,000] [82,535,000] [82,535,000]
$REN 8,563,000 3,000,000 11,563,000 11,563,000
HBRFY 10,011,000 4,611,000 14,622,000 14,622,000
BRI ER 894,000 207,000 1,101,000 1,101,000
=k 9,959,000 2,464,000 12,423,000 12,423,000
EIEEE 4,701,000 1,230,000 5,931,000 5,931,000
XEE 35,000 35,000 35,000
REREE 125,000 320,000 445,000 445,000
BIEEWE 1,286,000 111,000 1,397,000 1,397,000
HERE 733,000 878,000 1,611,000 1,611,000
SHEEH BRE S 345,000 345,000 345,000
RIS AE 1,027,000 145,000 1,172,000 1,172,000
EIEE 1,054,000 1,054,000 1,054,000
S E 197,000 3,493,000 3,690,000 3,690,000
FERARRVEREH 880,000 261,000 1,141,000 1,141,000
REEH 516,000 516,000 516,000
S FEk 586,000 68,000 654,000 654,000
EZ/N-Fikn 118,000 118,000 118,000
RitE 2,219,000 1,172,000 3,391,000 3,391,000
LEEERE 80,000 80,000 80,000
EYiEiENE 3,799,000 3,799,000 3,799,000
hESRIEENE 0 0 0
BERHRIMERNE 0 0 0
FAHEK 22 SRR iR (A & 0 0 0
HaERBmENE 220,000 220,000 220,000
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BESILEEALE 3,663,000 3,663,000 3,663,000
B IREL R MEE 5,812,000 5,812,000 5,812,000
BEELIEMNEHNE 3,876,000 3,876,000 3,876,000
BEEEYESREZE—MRERE 3,876,000 3,876,000 3,876,000
QEEE [0] [0] [0] [714,000] [714,000]
HBHEFY 434,000 434,000
BT E 12,000 12,000
BHELE 76,000 76,000
R 10,000 10,000
REXBE 177,000 177,000
RILF 5,000 5,000
BREERHB) 58,408,000 24,127,000 82,535,000 714,000 83,249,000
LA R R EE(A)-(B)=(C) A 3,577,000 A 4,483,000 A 8,060,000 0 A 8,060,000
2. @ENEEOL
(1) #EENIREE
OZm#HBE
SHENEHNE
@ D IREE
BEBIMERAR
£ESMREFHD) 0 0 0 0 0
(2)®RENER
O & EFER
BEERERKREE
EENERHE) 0 0 0 0 0
AR S R ED)-(E)=(F) 0 0 0 0 0
4 57 — % 1F Bk B 2E 18 SR 88 (C)+(F)=(G) A 3,577,000 A 4,483,000 A 8,060,000 0 A 8,060,000
—BIERM EYEERH) 174,421,000 145,689,000 320,110,000 0 320,110,000
— B IERR B EY R B (GHH)=D 170,844,000 141,206,000 312,050,000 0 312,050,000
I $5FELKEEEROLH
QL35 [63.876,000] [63,876,000] [63,876,000]
THEMNSEDS 60,000,000 60,000,000 60,000,000
BEBEXEMNERDE 3,876,000 3,876,000 3,876,000
QR EEEERL [104,000] [104,000] [104,000]
BEEEZIF A 104,000 104,000 104,000
QZmFHE [0] [0] [o]
ZHEHE 0 0 0
@—BIEKRME~DEREE [ A13,564,000] [ A58,000] [ A13,622,000] [ A13,622,000]
— R IEREAE A~ DIRESE A 13,564,000 A 58,000 A 13,622,000 A 13,622,000
L4 HA45 T TE Wk B B 1 R EE (V) 50,416,000 A 58,000 50,358,000 0 50,358,000
EEEHRMENEERSK 10,005,242,000 45,492,000 10,050,734,000 0 | 10,050,734,000
5 5E IERK B EE AR A (DHK)=(L) 10,055,658,000 45,434,000 10,101,092,000 0 | 10,101,092,000
I EGkHEHRBEDHL=M) 10,226,502,000 186,640,000 10,413,142,000 0 | 10,413,142,000




